
14.09 2017

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 Copenhagen S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

mounting
instruction
loop LINE
#140



14.09 2017#137 loop LINE - mounting

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 Copenhagen S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

B2 bracket for ground fixation B3 bracket for surface fixation

02

M10

M10

M10

M10

The bracket is mounted onto the  
bottom of Loop Line with supplied  
M10x16 allen key bolts.

Loop Line is not stable as an  
individual unit - it has to be mounted  
with brackets to the ground or to  
Loop Arc or Loop Corner.

The bracket is mounted onto the  
bottom of Loop Line with supplied  
M10x16 allen key bolts.

Loop Line is not stable as an  
individual unit - it has to be mounted  
with brackets to the ground or to  
Loop Arc or Loop Corner.

BESLAG/BRACKETS VERSION 02

B4 / 900 B400
Loop Arc
Loop Line

M10

4mm

20mm

220mm

80mm

Ø12mm

35mm

B3 / 900 B301
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

4mm

100mm

124mm

12mm

B2 / 900 B201
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

127mm

450mm

127mm

4mm

30mm

230mm

80mm

Ø12mm

30mm

Ø12mm

B5 / 900 B501
Loop Line

M10 4mm

154mm
100mm

127mm

127mm

30mm 30mm

400mm

80mm

Ø12mm Ø12mm

Ø12mm

77mm

40mm

220mm

80mm

22,5mm
Ø12mm

UPDATED 20.06.2014 KJout-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

BESLAG/BRACKETS VERSION 02

B4 / 900 B400
Loop Arc
Loop Line

M10

4mm

20mm

220mm

80mm

Ø12mm

35mm

B3 / 900 B301
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

4mm

100mm

124mm

12mm

B2 / 900 B201
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

127mm

450mm

127mm

4mm

30mm

230mm

80mm

Ø12mm

30mm

Ø12mm

B5 / 900 B501
Loop Line

M10 4mm

154mm
100mm

127mm

127mm

30mm 30mm

400mm

80mm

Ø12mm Ø12mm

Ø12mm

77mm

40mm

220mm

80mm

22,5mm
Ø12mm

UPDATED 20.06.2014 KJout-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

BESLAG/BRACKETS VERSION 02

B4 / 900 B400
Loop Arc
Loop Line

M10

4mm

20mm

220mm

80mm

Ø12mm

35mm

B3 / 900 B301
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

4mm

100mm

124mm

12mm

B2 / 900 B201
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

127mm

450mm

127mm

4mm

30mm

230mm

80mm

Ø12mm

30mm

Ø12mm

B5 / 900 B501
Loop Line

M10 4mm

154mm
100mm

127mm

127mm

30mm 30mm

400mm

80mm

Ø12mm Ø12mm

Ø12mm

77mm

40mm

220mm

80mm

22,5mm
Ø12mm

UPDATED 20.06.2014 KJout-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

BESLAG/BRACKETS VERSION 02

B4 / 900 B400
Loop Arc
Loop Line

M10

4mm

20mm

220mm

80mm

Ø12mm

35mm

B3 / 900 B301
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

4mm

100mm

124mm

12mm

B2 / 900 B201
Loop
Loop Arc
Loop Line
FitStation
Satellite

M10

127mm

450mm

127mm

4mm

30mm

230mm

80mm

Ø12mm

30mm

Ø12mm

B5 / 900 B501
Loop Line

M10 4mm

154mm
100mm

127mm

127mm

30mm 30mm

400mm

80mm

Ø12mm Ø12mm

Ø12mm

77mm

40mm

220mm

80mm

22,5mm
Ø12mm

UPDATED 20.06.2014 KJout-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 København S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk



14.09 2017#137 loop LINE - mounting

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 Copenhagen S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

B5 bracket for ground fixation, middle B6 bracket for surface fixation, middle

03

M10 M10

The bracket is mounted onto the  
bottom of Loop Line with supplied  
M10x16 allen key bolts.

Loop Line is not stable as an  
individual unit - it has to be mounted  
with brackets to the ground or to  
Loop Arc or Loop Corner.

The bracket is mounted onto the  
bottom of Loop Line with supplied  
M10x16 allen key bolts.

Loop Line is not stable as an  
individual unit - it has to be mounted  
with brackets to the ground or to  
Loop Arc or Loop Corner.

4mm

154mm
100mm

127mm

127mm

30mm 30mm

400mm

80mm

Ø12mm Ø12mm

Ø12mm
77mm 40mm 40mm

395mm

80mm

Ø12mm

155mm

124mm

124mm

12mm
4mm



14.09 2017#137 loop LINE - mounting

out-sider a/s
Kigkurren 8A, Islands Brygge
DK-2300 Copenhagen S

info@out-sider.dk
+45 2261 7420
www.out-sider.dk

B4 assembly bracket cleaning instructions

The material polyethylene withstands almost all detergents.  
Polyethylene requires no maintenance.  
 
The dyed polyethylene preserves the colour - minimal fading  
by the sun is to be expected.

Pressure washers can be used with advantage to clean the 
product.

After cleaning, use vinyl polish (same as used for car interiors)  
to make the product shine.

slip resistant surfaces

The products have a textured/granulated surface due to  
abrasive blasting of the mold. 

This process increases friction, resulting in a less slippery  
surface.

04

220mm

80mm

Ø12mm

The assembly bracket function as a spacer between the ends  
of two Loop Lines. The bracket is adjustable (0-50mm).

Each bracket is mounted onto the bottom of each Loop Line with 
the supplied M10x16 bolts.

M10


